
 

juk; - 11 1 fzpjk; - I 
 

 

khfhzf; fy;tpj; jpizf;fsk; 

tl khfhzk ; 

,uz;lhe; jtizg; ghPl;ir – 2016 

                              fzpjk;    

Rl;nlz; :..........................................................................................         juk; : 11      Neuk; :- 2 kzpj;jpahyq;fs; 
   

 

gFjp - I A 

01) fk;gdp xd;wpy; &gh 24.00 tPjk; 500 gq;Ffisf; nfhs;tdT nra;Ak; xUtu; KjyPL 

nra;Ak; njhif ahJ? 

 

02) 8 𝑐𝑚 Rw;wsTs;s rJuj;jpd; gug;gsitf; fhz;f. 

 

 

03) RUf;Ff. 

𝑥

2
×

8

𝑥𝑦 
> ,q;F 𝑥, 𝑦 ≠ 0 

 

04) jug;gl;Ls;s cUtpy; Fwpf;fg;gl;Ls;s 

jfty;fSf;Nfw;g 𝑥, 𝑦 ,d; ngWkhdq;fisf;  

fhz;f. 

 

 

05) √75 vDk; Nril vspa tbtpy; jUf. 

 

06) 2𝑥 =
1

64
 vdpd; 𝑥 ,d; ngWkhdj;ijf; fhz;f. 

 

07) 2𝑥 + 2𝑥 , 𝑥2 − 4 vDk; ml;rufzpj Nfhitfspd; nghJ klq;Ffspy; rpwpaijf; fhz;f. 

 

08) jug;gl;Ls;s tl;lj;jpd; ikak; 𝑂 MFk;.  

𝑦 ,d; ngWkhdj;ijf; fhz;f. 

 

 

 

09) 𝐴 = {𝑥 ∶ 𝑥 𝜖 ℤ, −1 < 𝑥 ≤ 3} 

njhil 𝐴 I mjd; %yfq;fSld; vOJf. 

 

10) log
3

81 = 4 I Rl;b tbtpy; jUf. 

 

 

𝟓𝟎°

D 
𝒚

D 

𝒙

D 

𝑶

D 𝒚

D 
𝟏𝟏𝟎° 
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11) jug;gl;Ls;s cUtpy; Fwpf;fg;gl;Ls;s 

jfty;fspw;Nfw;g 𝑥 ,d; ngWkhdj;ijf; fhz;f. 

  

 

 

 

12) FWf;Fntl;LKfg; gug;gsT 24𝑐𝑚2 MfTs;sJk; 15 𝑐𝑚 ePsKilaJkhd rPuhd 

mupankhd;wpd; fdtsitf; fhz;f. 

 

 

13) (−2), (−6), (−18), .......... vd;w ngUf;fy; tpUj;jpapd; nghJtpfpjj;ijf; fhz;f. 

 

14) jug;gl;Ls;s cUtpy; Fwpf;fg;gl;Ls;s 

juTfisg; gad;gLj;jp 𝐶𝐵 ,d; ePsj;ijf;  

fhz;f. 

 

 

 

15) mUfpy; jug;gl;Ls;s tiugpy;  

Neu;Nfhl;bd; rkd;ghl;il vOJf. 

 

 

 

 

 

 

16) cUtpy; jug;gl;Ls;s jfty;fspd;  

gb 𝑦 ,d; ngWkhdj;ijf; fhz;f. 

 

 

 

17) jug;gl;Ls;s vz;Nfhl;by; 5 − 2𝑥 ≥ 11 vDk; rkdpypapd; jPu;it Fwpj;Jf; fhl;Lf. 

 

 

 

18) 6, 12, 8, 8, 7, 7,    𝑥 vDk; juTj; njhFjpapd; MfhuKk; ,ilAk; rkd; vdpd; 𝑥 ,d; 

ngWkhdk; ahJ? 

 

19) jPu;f;f. 
2

𝑚
+

1

2𝑚
= 5 

 

𝑨 

𝑫 𝑪 𝑩 

𝟏𝟎 𝒄𝒎 

𝒚 

𝒙 

(𝟎, 𝟐) 

(𝟐, 𝟎) 

𝑨 

𝑫 

𝑩 

𝑪 
𝑬 

𝒚 𝟗 𝒄𝒎 

𝟔 𝒄𝒎 𝟏𝟐 𝒄𝒎 

−𝟔 −𝟓 −𝟒 −𝟑 −𝟐 −𝟏 𝟎 𝟏 𝟐 𝟑 𝟒 𝟓 𝟔 

𝟐𝒙 + 𝟏 

𝟑𝟎 𝒄𝒎 
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D 

 

 

20) 144 𝑐𝑚2 gug;gsTila rJuk;  

𝐴𝐵𝐶𝐷 mUfpy; jug;gl;Ls;sJ.  

,q;F 𝐶𝑄 ,d; ePsk; 13 𝑐𝑚 

MFk; vdpd; 𝐵𝑃 ,d; ePsj;ijf;  

fhz;f. 

 

 

21) cUtpy; 𝐴𝐵 = 𝐵𝐶 

Nfhzk; 𝐴𝐶𝐵 ,d; ,U$whf;fp 

𝐴𝐵 I 𝐷 ,y; re;jpf;fpwJ.  

Nfhzk; 𝐴𝐵𝐶 = 20° vdpy; 𝑥, 𝑦 If; fhz;f. 

 

 

22) jug;gl;Ls;s ,U tl;lq;fspdJk; ikak; 𝑂 MFk;.  

𝐴𝐶 = 7𝑐𝑚, 𝐶𝐷 = 10 𝑐𝑚 MfTk; 𝑂𝑀 = 5𝑐𝑚 

MfTk; ,Ug;gpd; ngupatl;lj;jpd; Miuiaf;  

fhz;f. 

 

 

23) 1, 7, 4, 5, 4, 2, 3, 1, 4, 7, 6 ,j;juTj; njhFjpapd; %d;whk; fhyiz ahJ? 

 

24) jug;gl;Ls;s cUtpy; 𝐴 𝐵 𝐶 𝐷 𝐸 𝐹       8 𝑐𝑚 gf;fKila 

xU xOq;fhd mWNfhzp MFk; vdpd; ∆ 𝑃𝑄𝑅 ,d;  

Rw;wsitf; fhz;f. 

 

 

 

 

 

25) jug;gl;lNfhL 𝐴𝐵 ,ypUe;J 2 𝑐𝑚 J}uj;jpYk; 𝐶 apypUe;J 3 𝑐𝑚 J}uj;jpYk; cs;s 

Gs;spfspd; mikitf; Fwpj;Jf; fhl;Lf. 

 

 

 

 

 

 

 

 

 

𝑨 𝑩 

𝑪 𝑫 

𝑸 

𝑷 

𝑶 

𝑨 𝑪 𝑴 𝑫 𝑩 

𝑷 

𝑩 

𝑪 

𝑫 𝑬 𝑸 

𝑭 

𝑨 

𝑨 𝑪 𝑩 

𝒚 

𝑨 

𝒙 
𝒙 

𝑩 𝑪 
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gFjp - I B 

01) xUtu; jdJ tUkhdj;jpd; 
1

3
 I cztpw;fhf nryT nra;fpd;whu;. vQ;rpajd; 

2

5
 I 

fy;tpf;fhf nryT nra;fpwhu;. vQ;rpaij NtW NjitfSf;fhf nryT nra;fpwhu;. 

i) cztpw;fhf nryT nra;j gpd;du; vQ;rpa njhif KOtjd; vd;d gpd;dk;? 

 

 

ii) fy;tpf;fhf nryT nra;jJ KOtjd; vd;d gpd;dk;? 

 

 

iii) NtW NjitfSf;fhf nryT nra;j njhif KOtjd; vd;d gpd;dk;? 

 

 

iv) NtW NjitfSf;fhf nryT nra;j njhif &gh 24000 vdpd; mtuJ tUkhdj;ijf; 

fhz;f. 

 

 

02) jug;gl;Ls;s rJuk; 𝐴𝐵𝐶𝐷 ,d; xUgf;f ePsk; 14 𝑐𝑚 MFk;. 𝐵, 𝐷 I ikakhff; nfhz;l 

,U fhy;tl;l tpw;fs; glj;jpy; cs;sthW tiuag;gl;Ls;sd. 

 

a) i) rJuk; 𝐴𝐵𝐶𝐷 ,d; gug;gsT ahJ? 

 

 

ii) Miur;rpiw 𝐴𝐵𝐶 ,d; gug;gsT ahJ? 

 

 

iii) epow;wg;gl;l gFjpapd; gug;gsT ahJ? 

 

 

 

b) i) tpy; 𝐴𝐶 ,d; ePsj;ijf; fhz;f. 

 

 

ii) epow;wg;gl;l gFjpapd; Rw;wsT ahJ? 

 

 

 

 

 

 

 

𝑫 𝑪 

𝑩 𝑨 
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03) xU rhe;Jf; fyitapy; rPnke;J> kzy; vd;gd 2 ∶ 3 vd;w tpfpjj;jpy; fyf;fg;gl;Ls;sd. 

 

a) 10 jhr;rp rPnke;Jld; Nkw;gb fyit jahupg;gjw;F vj;jid jhr;rp kzy; ,lg;gl 

Ntz;Lk;? 

 

 

b) 60 jhr;rp rhe;Jf; fyit Njitg;gLk; NghJ vj;jid jhr;rp rPnke;J ,l;L fyit 

jahupf;f Ntz;b ,Uf;Fk;? 

 

 

c) ,r;rhe;Jf; fyitAld; fy; Nru;j;J Gjpa fyit xd;W jahupf;fg;gl;lJ. Gjpa 

fyitapy; cs;s kzy;> fy; vd;gtw;Wf;fpilapyhd tpfpjk; 1 ∶ 2 MFk; vdpd; 

rPnke;J> kzy;> fy; vd;gtw;Wf;fpilapyhd tpfpjj;ijf; fhz;f. 

 

 

04) fpuhkk; xd;wpy; cs;s taJg; gpuptpdupd; vz;zpf;if fPNo cs;s ml;ltizapy; 

fhl;lg;gl;Ls;sJ. 

 

taJg; 
gpupT 

00 − 10 10 − 20 20 − 30 30 − 40 40 − 50 50 − 60 60 − 70 70 − 80 

vz;zp 
f;if 

  
45 80 90 50 

  

 

i) ,j;juTg; guk;gypy; ,Ue;J fPNo jug;gl;Ls;s tiyAUtiuaj;ijg; G+u;j;jp nra;f. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
𝟎

D 

𝟏𝟎 𝟐𝟎 𝟑𝟎 𝟒𝟎 𝟓𝟎 𝟔𝟎 𝟕𝟎 𝟖𝟎 𝟗𝟎 

𝟏𝟎 

𝟐𝟎 

𝟑𝟎 

𝟒𝟎 

𝟓𝟎 

𝟔𝟎 

𝟕𝟎 

𝟖𝟎 

𝟗𝟎 

𝟏𝟎𝟎 
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ii) tiugpy; ,Ue;J ml;ltiziag; G+u;j;jp nra;f. 

 

iii) ,t; tiyAUtiuaj;jpd; kPbwd; gy;Nfhzpia tiuf. 

 

iv) fpuhkj;jpy; cs;s kf;fspd; vz;zpf;if ahJ? 

 

 

v) 60 tajpYk; $Ljyhd taJilatu;fs; vj;jid rjtPjj;jpdu;. 

 

 

 

05) Fwpj;jnthU fpuhkj;jpy; fhy;eil tsu;g;Nghu; tpguk; tl;ltiugpy; G+uzg;gLj;jg;gl 

Ntz;bAs;sJ. 

 

i) ML tsu;g;Nghupd; vz;zpf;ifapd; ,U 

klq;F khL tsu;g;Nghu; vdpd; mjid 

tl;ltiugpy; Fwpj;Jf; fhl;Lf. 

 

ii) Nfhop tsu;g;Nghupd; miu klq;F khL 

tsu;g;Nghu; vdpd; mUfpy; cs;s 

tiugpy; Fwpj;Jf; fhl;Lf. 

 

 

iii) ML> khL> Nfhop jtpu Vida gpuhzpfs; 

tsu;g;Nghupd; vz;zpf;ifapd; gFjpiaAk; 

tl;ltiugpy; Fwpj;J> tiuig 

G+uzg;gLj;Jf. 

 

iv) Nfhop tsu;g;Nghu; 180 Ngu; vdpd; ML tsu;g;Nghupd; vz;zpf;ifiaf; fhz;f. 

 

 

 

 

v) vOkhw;whfj; njupT nra;Ak; xUtu; ML tsu;g;gtuhf ,Ug;gjw;fhd epfo;jfitf; 

fhz;f. 

𝟑𝟎° 

ML tsu;g;Nghu; 
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khfhzf; fy;tpj; jpizf;fsk; 

tl khfhzk ; 

,uz;lhe; jtizg; ghPl;ir – 2016 

                              fzpjk;    

Rl;nlz; :..........................................................................................         juk; : 11      Neuk; :- 3 kzpj;jpahyq;fs; 
   

 

gFjp - II A 

❖ Ie;J tpdhf;fSf;F khj;jpuk; tpil vOJf. 

01) a) xU tPl;bw;Fupa Mz;Lf;Fupa ,iwtup &gh 600 MFk;. ,jw;fhd ,iwtupahf 5% 

mwtplg;gLfpd;wnjdpd;> mt;tPl;bd; kjpg;gpl tUkhdk; ahJ? 

b) utpAk; FkhUk; ez;gu;fs;. utp &gh 25000 I 15% Mz;L vspa tl;bf;Fk; Fkhu;  

 &gh 25000 I 12% Mz;L $l;L tl;bf;Fk; xNu ehspy; flDf;Ff; nfhLf;fpd;whu;fs;. 

 i) 3 Mz;Lfspd; gpd; utpf;F fpilf;Fk; nkhj;jg; gzk; ahJ? 

 ii) 3 Mz;Lfspd; gpd; FkhUf;Ff; fpilf;Fk; nkhj;jg; gzk; ahJ? 

 iii) vtUf;F $Ljyhd gzk; fpilf;Fk; vdf; fhz;f. 
(3 + 3 + 3 + 1) 

02) 𝑦 =  (𝑥 − 2)2 − 3 vDk; rhu;gpd; jug;gl;l 𝑥 ,d; rpy ngWkhdq;fSf;F xj;j 𝑦 ,d; 

ngWkhdq;fis cs;slf;fpa G+uzkw;w Xu; ml;litz fPNo jug;gl;Ls;sJ. 

x -1 0 1 2 3 4 5 

y 6 1 -2 ........ -2 1 6 

 
a) i) ml;ltizapy; cs;s ntw;wplj;ij epug;Gf. 

ii) 𝑥, 𝑦 mr;Rf;fspy; 10 rpW gpupTfis Xu; myfhff; nfhz;L jug;gl;l tiuGj;jhspy; 

tiuig tiuf. 

b) tiuigg; gad;gLj;jp 

i) rhu;gpd; ,opTg; ngWkhdj;ijf; fhz;f. 

ii) 𝑦 < 0 MfTs;s 𝑥 ,d; ngWkhd tPr;ir vOJf. 

iii) rhu;G kiwahfTk; mjpfupg;gJkhd 𝑥 ,d; tPr;R ahJ? 

iv) ,jpypUe;J √3 ,d; ngWkhdj;ijf; fhz;f. 

 

03) i) 𝑥 = 5 MFk;. 2𝑥 + 3𝑦 = 22 ,y; 𝑦 ,d; ngWkhdj;ijf; fhz;f. 
ii)  

a) Fkhuplk; 2&gh>5&gh ehzaq;fs; 27 cs;sd. mjpy; 2&gh ehzaq;fspd; 
1

3
 

gq;fpdJk; 5&gh ehzaq;fspd; 
1

4
 gq;fpdJk; nkhj;jg; ngWkjp &gh 25 vdpy;  

&gh 5, &gh 2 ehzaq;fspd; vz;zpf;ifia KiwNa 𝑥, 𝑦 vd vLj;J ,U 

rkd;ghLfis vOJf. 

b) mr;rkd;ghLfisj; jPu;j;J xt;nthU ehzaq;fspd; vz;zpf;ifiaj; jdpj;jdpNa 

fhz;f. 
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04) i) jPu;f;Ff. 4𝑥 = 32 

ii) klf;if tha;g;ghl;il gad;gLj;jhJ ngWkhdk; fhz;f. 

 lg 25 + 2 lg 8 − 2 lg 4 + 1 

iii) 2 lg 𝑥 + lg 49 = 2 

iv) klf;ifiag; gad;gLj;jp ngWkhdk; fhz;f. 

 
43.24 × 2.973

√12.5
 

 
05) xU Fwpj;j khjj;jpy; Xu; fpuhkj;jpy; tPLfspy; Efu;e;j kpd;dyFfspd; vz;zpf;if 

njhlu;ghd juT fPNo jug;gl;Ls;sJ. 

kpd;dyFfspd; 
vz;zpf;if 

31 − 40 41 − 50 51 − 60 61 − 70 71 − 80 81 − 90 91 − 100 

tPLfspd; 
vz;zpf;if 

5 12 26 34 18 3 8 

 

a) ,j; juTfs; ngwg;gl;l tPLfspd; vz;zpf;if vj;jid? 

b) ,g;guk;gypd; Mfhu tFg;G ahJ? 

c) Mfhu tFg;ghapilapd; eLg;ngWkhdj;ij vLnfhz;l ,ilahff; nfhz;L xU tPl;by; 

Efug;gLk; kpd;dyFfspd; ,iliaf; fhz;f. 

d) ,k; khjj;jpw;Fupa xU tPl;bw;fhd kpd; fl;lzk; &gh 900 vdpd; xU myFf;Fupa lpd; 

fl;lzj;ijf; fhz;f. 
 

06) a) jPu;f;Ff. 

 
2

3
𝑥 + 4 = 10 

b) i) xU nrt;tfg; gyifapd; ePsk; mfyj;ijtpl 6 𝑚 $baJ gyifapd; gug;gsT 

15 𝑚2 MFk;. gyifapd; mfyk; 𝑥 𝑚 vdf; nfhz;L mjd; gug;gpw;fhd xU 

Nfhitia 𝑥 ,y; fhz;f. 

 ii) epiwtu;f;f Kiw %yk; my;yJ NtW Kiw %yk; mr;rkd;ghl;il jPu;j;J 

gyifapd; ePsj;ij kPw;wupy; jUf. (√6 = 2.45 vd;f) 
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gFjp - II B 

❖ Ie;J tpdhf;fSf;F khj;jpuk; tpil vOJf. 

 

07) a) irf;fps; Xl;lg;Nghl;b xd;wpy; fye;J nfhs;tjw;fhf xUtu; ehshe;jk; gapw;rpapy; 

<LgLk; tpjk; gpd;tUkhW 

 

 xt;nthUehSk; tPl;bypUe;J gapw;rp ,lj;jpw;Fk; irf;fpspNyNa nrd;W tUthu;.  

   tPl;bypUe;J gapw;rp ,lj;jpw;F; cs;s J}uk; 2 𝑘𝑚 gapw;rp ,lj;jpy; 5 𝑘𝑚 tl;lg; 

ghijapy; gapw;rp ngWtu;. 

 Kjy;ehs; xU tl;lKk; ,uz;lhk; ehs; ,U tl;lKk; %d;whk; ehs; %d;W tl;lKk; 

vd;wthW gapw;rp ngWfpwhu;. 

 

i) mtu; Kjy; %d;W ehl;fSk; irf;fps; Xba J}uq;fis jdpj;jdpNa fhz;f. 

ii) ,j;J}uq;fs; vt;tpUj;jpapy; mikAk;? 

iii) mtu; 10 ehl;fspy; irf;fps; Xba nkhj;j J}uk; ahJ? 

 
 

b) 3, 6, 12 ......... vd;w njhlupd;  

 i) 10k; cWg;G ahJ? 

 ii) Kjy; 10 cWg;Gf;fspd; $l;Lj;njhif ahJ?  (2 + 1 + 3 + 2 + 2) 

 
08) gpd;tUk; mikg;Gf;fspy; 𝑐𝑚/𝑚𝑚 mstpil cs;s Neu;tpspk;G> ftuhak; Mfpatw;iw 

khj;jpuk; gad;gLj;Jf. mikg;Gf; NfhLfis njspthff; fhl;Lf. 

 

i) 𝐴𝐵 = 10 𝑐𝑚, 𝐵𝐶 = 6 𝑐𝑚, 𝐴𝐶 = 8 𝑐𝑚 MfTs;s ∆ 𝐴𝐵𝐶 I mikf;f. 

ii) Nfhzk; 𝐴�̂�𝐵 I mse;J vOJf. 

 
 

iii) 𝐴𝐵 ,d; nrq;Fj;jpU$whf;fpia tiuf. 

,J 𝐴𝐵 I ,ilntl;Lk; Gs;spia 𝑂 vdf; Fwpf;f. 

iv) ,k;Kf;Nfhzpapd; Rw;Wtl;lj;ij mikf;f. 

v) ,t;tl;lj;jpd; Miuia mse;J vOJf. 

(3 + 3 + 2 + 1 + 1) 

 

09) i)  

 

 

 

 

 

cUtpy; 𝐴𝐵, 𝐴𝐶 ,d; eLg;Gs;spfs; 𝐷, 𝐸 MFk; vdpd; 𝐷𝐸, 𝐵𝐶 f;F ,ilNaahd ,U 

njhlu;Gfis vOJf. 

𝑨 

𝑬 

𝑪 𝑩 

𝑫 
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ii)  

 

 

 

 

 

 

 

∆ 𝑃𝑄𝑅 ,y; 𝑃𝑄, 𝑃𝑅 ,d; eLg;Gs;spfs; 𝑆, 𝑇 MFk;. 𝑄𝑅 = 14 𝑐𝑚, 𝑃𝐴 = 6 𝑐𝑚,  

 𝑃𝑅 = 10 𝑐𝑚, 𝑃𝐴//𝑄𝑅 MFk;. 

gpd;tUtdtw;iwf; fhz;f. 

 

a) 𝑆𝑇 ,d; ePsk; ahJ? 

b) 𝑆𝐵 ,d; ePsk; ahJ? 

c) 𝑃�̂�𝐴 = 50° vdpd; 𝑃�̂�𝑆 If; fhz;f. 

d) ehw;gf;fy; 𝑃𝐴𝑅𝑄 ,d; gug;gsitf; fhz;f. 

 

 

10) jug;gl;l cUtpy; 𝐴𝐵𝐶 rkgf;f Kf;Nfhzp MFk;. 𝑃𝐴 = 𝑃𝐵 + 𝑃𝐶 vdpd; gpd;tUtdtw;iwf; 

epWTf. 

i) ∆ 𝐴𝐵𝑃, ∆ 𝐶𝐷𝑃 vd;gd ,ay;nghj;jit  

vdf; fhl;Lf. 

 

 

 

(4 Gs;sp) 

ii) 
𝐵𝑃

𝑃𝐷
=

𝑃𝐵+𝑃𝐶

𝑃𝐶
 vdf; fhl;Lf. (3 Gs;sp) 

iii) 
1

𝑃𝐷
=

1

𝑃𝐵
+

1

𝑃𝐶
 vdf; fhl;Lf. (3 Gs;sp) 

 

 

 

 

 

 

 

 

 

 

𝑷 𝑨 

𝑹 

𝑩 𝑻 𝑺 

𝑸 

𝑷 

𝑪 𝑩 

𝑨 

𝑫 
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11)  

 

 

 

 

 

 

  

 

 

 

2𝑎 MiuAk; 6𝑎 cauKk; nfhz;l cUistbtg; ghj;jpuk; xd;wpy; 4𝑎 cauj;jpw;F ePu; 

epug;gg;gl;Ls;sJ. 

i) cUis tbtg; ghj;jpuj;jpd; nfhs;ssit 𝜋, 𝑎 ,d; rhu;gpy; jUf. 

ii) ghj;jpuj;jpy; epug;gg;gl;Ls;s ePupd; fdtsit 𝜋, 𝑎 ,d; rhu;gpy; jUf. 

iii) glj;jpy; fhl;lg;gl;Ls;sthW 𝑎 MiuAk; 𝑎 cauKk; nfhz;l $k;G tbt thspapdhy; 

ePu; ms;sp cUis tbtg; ghj;jpuk; epug;gg;gLfpd;wJ. ,f;$k;Gg; ghj;jpuj;jpdhy; vj;jid 

jlit ePiu ms;sp epug;Gk; NghJ cUisg; ghj;jpuk; Kw;whf epuk;Gk; vdf; fhz;f. 

 

12) g];jupg;G epiyak; xd;wpy; epd;w gazpfs; gw;wpa tpguk; gpd;tUkhW 

 

 

 

 

 

 

 

𝐵 → g];jupg;G epiyaj;jpy; epd;w Mz;fspd; vz;zpf;if  

𝐴 → g];jupg;G epiyaj;jpy; Fil itj;jpUe;Njhu; vz;zpf;if 

i) g];jupg;gplj;jpy; cs;s gazpfspd; 50 Ngu; Mapd; Fil itj;jpUf;fhj ngz;fspd; 

vz;zpf;if ahJ? 

ii) Fil itj;jpUe;j Mz;fspd; vz;zpf;if ahJ? 

iii) g];jupg;gplj;jpy; cs;s Mz;fspd; vz;zpf;if ngz;fspd; vz;zpf;ifia tpl 

vt;tsT mjpfk;? 

iv) ,g;gazpfspy; ,Ue;J xUtu; vOkhw;whf njupT nra;ag;gl;lhy; mtu; Fil 

itj;jpUe;j ngz;zhf ,Ug;gjw;Fupa epfo;jfT ahJ? 

𝑨 𝑩 
𝟐𝟓 𝟏𝟎 𝟏𝟓 

𝟔𝒂 

𝟒𝒂 

𝟐𝒂 

𝒂 

𝒂 
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